
� No.163-20-1 �

No.163-20-1 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1226− 818 = (2) 954 + 467 = (3) 996 + 916 =

(4) 541 + 984 = (5) 978− 390 = (6) 56 + 619 =

(7) 1516− 546 = (8) 267 + 635 = (9) 329 + 724 =

(10) 466 + 662 = (11) 856− 158 = (12) 598 + 544 =

(13) 261 + 997 = (14) 1255− 954 = (15) 329 + 330 =

(16) 1741− 750 = (17) 159 + 384 = (18) 666 + 902 =

(19) 992− 167 = (20) 841− 392 =

� 13th-note �



� No.163-20-1 �

No.163-20-1 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1226− 818 = 408 (2) 954 + 467 = 1421 (3) 996 + 916 = 1912

(4) 541 + 984 = 1525 (5) 978− 390 = 588 (6) 56 + 619 = 675

(7) 1516− 546 = 970 (8) 267 + 635 = 902 (9) 329 + 724 = 1053

(10) 466 + 662 = 1128 (11) 856− 158 = 698 (12) 598 + 544 = 1142

(13) 261 + 997 = 1258 (14) 1255− 954 = 301 (15) 329 + 330 = 659

(16) 1741− 750 = 991 (17) 159 + 384 = 543 (18) 666 + 902 = 1568

(19) 992− 167 = 825 (20) 841− 392 = 449

� 13th-note �



� No.163-20-2 �

No.163-20-2 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 416− 320 = (2) 1069− 915 = (3) 1155− 204 =

(4) 715 + 760 = (5) 119 + 605 = (6) 1216− 306 =

(7) 999 + 910 = (8) 818− 168 = (9) 970− 676 =

(10) 722 + 482 = (11) 462 + 407 = (12) 515 + 653 =

(13) 1737− 969 = (14) 566 + 536 = (15) 794 + 400 =

(16) 202 + 469 = (17) 1680− 831 = (18) 1483− 795 =

(19) 1063− 643 = (20) 613− 47 =

� 13th-note �



� No.163-20-2 �

No.163-20-2 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 416− 320 = 96 (2) 1069− 915 = 154 (3) 1155− 204 = 951

(4) 715 + 760 = 1475 (5) 119 + 605 = 724 (6) 1216− 306 = 910

(7) 999 + 910 = 1909 (8) 818− 168 = 650 (9) 970− 676 = 294

(10) 722 + 482 = 1204 (11) 462 + 407 = 869 (12) 515 + 653 = 1168

(13) 1737− 969 = 768 (14) 566 + 536 = 1102 (15) 794 + 400 = 1194

(16) 202 + 469 = 671 (17) 1680− 831 = 849 (18) 1483− 795 = 688

(19) 1063− 643 = 420 (20) 613− 47 = 566

� 13th-note �



� No.163-20-3 �

No.163-20-3 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 981 + 735 = (2) 993 + 552 = (3) 989− 916 =

(4) 475 + 168 = (5) 827− 472 = (6) 90 + 763 =

(7) 546 + 599 = (8) 993 + 344 = (9) 91 + 352 =

(10) 167 + 680 = (11) 734 + 502 = (12) 522 + 993 =

(13) 483 + 242 = (14) 24 + 847 = (15) 311 + 882 =

(16) 420− 54 = (17) 920− 363 = (18) 1305− 643 =

(19) 438 + 813 = (20) 1256− 446 =

� 13th-note �



� No.163-20-3 �

No.163-20-3 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 981 + 735 = 1716 (2) 993 + 552 = 1545 (3) 989− 916 = 73

(4) 475 + 168 = 643 (5) 827− 472 = 355 (6) 90 + 763 = 853

(7) 546 + 599 = 1145 (8) 993 + 344 = 1337 (9) 91 + 352 = 443

(10) 167 + 680 = 847 (11) 734 + 502 = 1236 (12) 522 + 993 = 1515

(13) 483 + 242 = 725 (14) 24 + 847 = 871 (15) 311 + 882 = 1193

(16) 420− 54 = 366 (17) 920− 363 = 557 (18) 1305− 643 = 662

(19) 438 + 813 = 1251 (20) 1256− 446 = 810

� 13th-note �



� No.163-20-4 �

No.163-20-4 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1428− 806 = (2) 366 + 119 = (3) 483− 206 =

(4) 513 + 77 = (5) 729 + 496 = (6) 1416− 775 =

(7) 907 + 519 = (8) 1026− 812 = (9) 271− 20 =

(10) 441 + 207 = (11) 1169− 477 = (12) 499 + 968 =

(13) 905 + 228 = (14) 402 + 211 = (15) 700− 335 =

(16) 1409− 478 = (17) 405− 284 = (18) 407 + 202 =

(19) 935− 82 = (20) 1685− 768 =

� 13th-note �



� No.163-20-4 �

No.163-20-4 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1428− 806 = 622 (2) 366 + 119 = 485 (3) 483− 206 = 277

(4) 513 + 77 = 590 (5) 729 + 496 = 1225 (6) 1416− 775 = 641

(7) 907 + 519 = 1426 (8) 1026− 812 = 214 (9) 271− 20 = 251

(10) 441 + 207 = 648 (11) 1169− 477 = 692 (12) 499 + 968 = 1467

(13) 905 + 228 = 1133 (14) 402 + 211 = 613 (15) 700− 335 = 365

(16) 1409− 478 = 931 (17) 405− 284 = 121 (18) 407 + 202 = 609

(19) 935− 82 = 853 (20) 1685− 768 = 917

� 13th-note �



� No.163-20-5 �

No.163-20-5 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 520 + 12 = (2) 716 + 933 = (3) 628 + 44 =

(4) 943 + 301 = (5) 972 + 803 = (6) 314 + 837 =

(7) 1937− 999 = (8) 1574− 932 = (9) 711− 341 =

(10) 314− 143 = (11) 389 + 672 = (12) 994− 667 =

(13) 227 + 204 = (14) 76 + 893 = (15) 1553− 918 =

(16) 397 + 537 = (17) 793 + 731 = (18) 983 + 277 =

(19) 867− 119 = (20) 675− 85 =

� 13th-note �



� No.163-20-5 �

No.163-20-5 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 520 + 12 = 532 (2) 716 + 933 = 1649 (3) 628 + 44 = 672

(4) 943 + 301 = 1244 (5) 972 + 803 = 1775 (6) 314 + 837 = 1151

(7) 1937− 999 = 938 (8) 1574− 932 = 642 (9) 711− 341 = 370

(10) 314− 143 = 171 (11) 389 + 672 = 1061 (12) 994− 667 = 327

(13) 227 + 204 = 431 (14) 76 + 893 = 969 (15) 1553− 918 = 635

(16) 397 + 537 = 934 (17) 793 + 731 = 1524 (18) 983 + 277 = 1260

(19) 867− 119 = 748 (20) 675− 85 = 590

� 13th-note �



� No.163-20-6 �

No.163-20-6 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 875− 41 = (2) 1159− 327 = (3) 871− 408 =

(4) 1115− 948 = (5) 846 + 690 = (6) 449 + 674 =

(7) 800 + 456 = (8) 551− 65 = (9) 911− 378 =

(10) 1325− 360 = (11) 533 + 667 = (12) 652− 322 =

(13) 956 + 369 = (14) 229 + 318 = (15) 1409− 979 =

(16) 710− 617 = (17) 358 + 46 = (18) 452 + 382 =

(19) 272 + 105 = (20) 147− 74 =

� 13th-note �



� No.163-20-6 �

No.163-20-6 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 875− 41 = 834 (2) 1159− 327 = 832 (3) 871− 408 = 463

(4) 1115− 948 = 167 (5) 846 + 690 = 1536 (6) 449 + 674 = 1123

(7) 800 + 456 = 1256 (8) 551− 65 = 486 (9) 911− 378 = 533

(10) 1325− 360 = 965 (11) 533 + 667 = 1200 (12) 652− 322 = 330

(13) 956 + 369 = 1325 (14) 229 + 318 = 547 (15) 1409− 979 = 430

(16) 710− 617 = 93 (17) 358 + 46 = 404 (18) 452 + 382 = 834

(19) 272 + 105 = 377 (20) 147− 74 = 73

� 13th-note �



� No.163-20-7 �

No.163-20-7 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 954 + 844 = (2) 865 + 753 = (3) 211 + 936 =

(4) 289 + 182 = (5) 836− 62 = (6) 900− 449 =

(7) 140 + 32 = (8) 1482− 487 = (9) 1175− 841 =

(10) 156 + 400 = (11) 962− 195 = (12) 500 + 989 =

(13) 348− 339 = (14) 813 + 358 = (15) 244 + 269 =

(16) 1261− 995 = (17) 394 + 218 = (18) 488 + 535 =

(19) 1011− 860 = (20) 193 + 210 =

� 13th-note �



� No.163-20-7 �

No.163-20-7 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 954 + 844 = 1798 (2) 865 + 753 = 1618 (3) 211 + 936 = 1147

(4) 289 + 182 = 471 (5) 836− 62 = 774 (6) 900− 449 = 451

(7) 140 + 32 = 172 (8) 1482− 487 = 995 (9) 1175− 841 = 334

(10) 156 + 400 = 556 (11) 962− 195 = 767 (12) 500 + 989 = 1489

(13) 348− 339 = 9 (14) 813 + 358 = 1171 (15) 244 + 269 = 513

(16) 1261− 995 = 266 (17) 394 + 218 = 612 (18) 488 + 535 = 1023

(19) 1011− 860 = 151 (20) 193 + 210 = 403

� 13th-note �



� No.163-20-8 �

No.163-20-8 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 706− 283 = (2) 1879− 896 = (3) 690 + 477 =

(4) 496 + 607 = (5) 1028− 384 = (6) 483 + 345 =

(7) 455− 256 = (8) 218 + 703 = (9) 1206− 588 =

(10) 100 + 560 = (11) 1109− 526 = (12) 1034− 405 =

(13) 620− 95 = (14) 1338− 528 = (15) 415 + 747 =

(16) 908− 713 = (17) 537− 80 = (18) 1684− 836 =

(19) 766− 16 = (20) 1319− 661 =

� 13th-note �



� No.163-20-8 �

No.163-20-8 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 706− 283 = 423 (2) 1879− 896 = 983 (3) 690 + 477 = 1167

(4) 496 + 607 = 1103 (5) 1028− 384 = 644 (6) 483 + 345 = 828

(7) 455− 256 = 199 (8) 218 + 703 = 921 (9) 1206− 588 = 618

(10) 100 + 560 = 660 (11) 1109− 526 = 583 (12) 1034− 405 = 629

(13) 620− 95 = 525 (14) 1338− 528 = 810 (15) 415 + 747 = 1162

(16) 908− 713 = 195 (17) 537− 80 = 457 (18) 1684− 836 = 848

(19) 766− 16 = 750 (20) 1319− 661 = 658

� 13th-note �



� No.163-20-9 �

No.163-20-9 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1030− 828 = (2) 457− 291 = (3) 885− 529 =

(4) 120 + 522 = (5) 1612− 678 = (6) 1498− 692 =

(7) 1314− 357 = (8) 423 + 628 = (9) 274 + 459 =

(10) 1016− 426 = (11) 486 + 906 = (12) 579 + 496 =

(13) 792 + 391 = (14) 700 + 876 = (15) 490 + 427 =

(16) 655 + 475 = (17) 415 + 332 = (18) 1124− 668 =

(19) 808 + 263 = (20) 139− 100 =

� 13th-note �



� No.163-20-9 �

No.163-20-9 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1030− 828 = 202 (2) 457− 291 = 166 (3) 885− 529 = 356

(4) 120 + 522 = 642 (5) 1612− 678 = 934 (6) 1498− 692 = 806

(7) 1314− 357 = 957 (8) 423 + 628 = 1051 (9) 274 + 459 = 733

(10) 1016− 426 = 590 (11) 486 + 906 = 1392 (12) 579 + 496 = 1075

(13) 792 + 391 = 1183 (14) 700 + 876 = 1576 (15) 490 + 427 = 917

(16) 655 + 475 = 1130 (17) 415 + 332 = 747 (18) 1124− 668 = 456

(19) 808 + 263 = 1071 (20) 139− 100 = 39

� 13th-note �



� No.163-20-10 �

No.163-20-10 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 434 + 841 = (2) 1565− 740 = (3) 1559− 969 =

(4) 263 + 625 = (5) 801− 748 = (6) 709− 258 =

(7) 610 + 767 = (8) 1190− 321 = (9) 444− 281 =

(10) 529− 433 = (11) 814− 242 = (12) 1085− 955 =

(13) 621 + 976 = (14) 725 + 151 = (15) 326 + 148 =

(16) 85− 68 = (17) 37 + 891 = (18) 1260− 430 =

(19) 301− 161 = (20) 442− 372 =

� 13th-note �



� No.163-20-10 �

No.163-20-10 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 434 + 841 = 1275 (2) 1565− 740 = 825 (3) 1559− 969 = 590

(4) 263 + 625 = 888 (5) 801− 748 = 53 (6) 709− 258 = 451

(7) 610 + 767 = 1377 (8) 1190− 321 = 869 (9) 444− 281 = 163

(10) 529− 433 = 96 (11) 814− 242 = 572 (12) 1085− 955 = 130

(13) 621 + 976 = 1597 (14) 725 + 151 = 876 (15) 326 + 148 = 474

(16) 85− 68 = 17 (17) 37 + 891 = 928 (18) 1260− 430 = 830

(19) 301− 161 = 140 (20) 442− 372 = 70

� 13th-note �


